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B.A.-7209-G   [ Y„Ã[˝Ã[˝ Y úˆÁÃ^ V–rÙ[˝Ó B.A.-7209-G  

ÿoˆÁTˆEı YÁPˆy‘] ( B.D.P.) 
◊`l˘Á[˝bÔÁ‹ôˆ YÃ[˝›l˘Á ( Term End Examination ) :  

◊Qˆ„a∂ëˆÃ[˝, 2015 C L«X, 2016 

a]ÁL◊[˝VÓÁ¯ ( Sociology ) 
B◊¨K˜Eı YÁPˆy‘] ( Elective ) 

aä] Yy ( 7th Paper : Social Demography and  
Social Change ) 

a]Ã^  f ªJÙÁÃ[˝ H∞RÙOÁ Y…SÔ]ÁX  f 100 
Time : 4 Hours Full Marks : 100 

( ]Á„XÃ[˝ mÃ[˝”±ºˆ  f 70% ) 
( Weightage of Marks : 70% ) 

Y◊Ã[˝◊]Tˆ C ^UÁ^U =w¯„Ã[˝Ã[˝ LXÓ ◊[˝„`b ]…_Ó ÂVCÃ^Á c˜„[˝* 
%£à˘ [˝ÁXÁX, %Y◊Ã[˝¨K˜~TˆÁ A[˝e %Y◊Ã[˝õıÁÃ[˝ c˜ÿôˆÁl˘„Ã[˝Ã[˝ Âl˘‰y X∂ëˆÃ[˝ 

ÂEı‰ªRÙO ÂXCÃ^Á c˜„[˝* =YÁ„‹ôˆ Y“‰`¬Ã[˝ ]…_Ó]ÁX a…◊ªJÙTˆ %Á‰ªK˜* 
Special credit will be given for accuracy and relevance 

in the answer. Marks will be deducted for incorrect 
spelling, untidy work and illegible handwriting. 

The weightage for each question has been 
indicated in the margin. 

1* Â^-ÂEıÁ„XÁ V«'◊ªRÙO Y“‰`¬Ã[˝ =w¯Ã[˝ ◊VX  f 20 × 2 = 40 

 (Eı) aÁ]Á◊LEı Y◊Ã[˝[˝Tˆ¤„XÃ[˝ ◊YªK˜„X Â^ a]ÿôˆ EıÁÃ[˝Sm◊_ 

[˝Tˆ¤]ÁX Âam◊_ %Á„_ÁªJÙXÁ EıÃ[˝”X* 

 (F) aÁ]Á◊LEı Y“G◊TˆÃ[˝ %UÔ Y◊Ã[˝ÿˆï«ıªRÙO EıÃ[˝”X* AÃ[˝ ÿëˆTˆ‹óˆ 

È[˝◊`rÙÓm◊_ =‰{F EıÃ[˝”X* 

 (G) LXΩ◊XÃ^‹óˆS Yà˘◊Tˆ ◊Eı ? AÃ[˝ Y„l˘ C ◊[˝Y„l˘ 

^«◊N˛m◊_ ◊Eı ◊Eı ? \ˆÁÃ[˝„Tˆ LXΩ◊XÃ^‹óˆS Y◊Ã[˝◊ÿöˆ◊TˆÃ[˝ 

◊[˝b„Ã^ %Á„_ÁªJÙXÁ EıÃ[˝”X* 

 (H) =[˝ÔÃ[˝TˆÁ C ◊`l˘ÁÃ[˝ YÁÃ[˝&◊Ã[˝Eı a+„EÔıÃ[˝ ◊[˝b„Ã^ 

%Á„_ÁªJÙXÁ EıÃ[˝”X* 

2* Â^-ÂEıÁ„XÁ ◊TˆX◊ªRÙO Y“‰`¬Ã[˝ =w¯Ã[˝ ◊VX f 12 × 3 = 36 

(Eı) aÁ]Á◊LEı ◊[˝[˝Tˆ¤X C Y“G◊TˆÃ[˝ a+EÔı ◊Eı ? 

(F) ◊ÿöˆ◊Tˆ`›_ =~Ã^X [˝_„Tˆ ◊Eı Â[˝ÁMıÁÃ^ ? 

(G) %ÁW˝«◊XEı›EıÃ[˝„SÃ[˝ ]ÁW˝Ó„] ◊Eı Y◊Ã[˝[˝Tˆ¤X aeG◊PˆTˆ c˜Ã^ ?  

(H) %ÁV]a«]Á◊Ã[˝ EıÁ„Eı [˝„_ ? AÃ[˝ =„ï`Óm◊_ ◊Eı ◊Eı ? 
\ˆÁÃ[˝„Tˆ EıFX %ÁV]a«]Á◊Ã[˝ £Ã[˝” c˜„Ã^◊ªK˜_ ?  

 (I¯) ]ÁjÔ-AÃ[˝ LXaeFÓÁ Tˆ√º¯ %Á„_ÁªJÙXÁ EıÃ[˝”X* 

 (ªªJÙ) ◊Eı ◊Eı EıÁÃ[˝„S LXaeFÓÁ HX±ºˆ Y“◊Tˆ◊úˆTˆ c˜Ã^ ? 

3* Â^-ÂEıÁ„XÁ ªJÙÁÃ[˝◊ªªRÙO Y“‰`¬Ã[˝ =w¯Ã[˝ ◊VX f 6 × 4 = 24 

(Eı) ◊[˝Y¿[˝ [˝_„Tˆ %ÁY◊X ◊Eı Â[˝Á„MıX ? 

(F) a]ÁLTˆÁ◊‹óˆEı a]ÁL [˝_„Tˆ ◊Eı Â[˝Á„MıX ? 

(G) aÁ]Á◊LEı LX◊[˝p˚ÁX ◊Eı ? 

(H) %XG–aÃ[˝ ÂV`m◊_„Tˆ =¨JÙ LXΩc˜Á„Ã[˝Ã[˝ EıÁÃ[˝Sm◊_     
◊Eı ◊Eı ? 

(I¯) aÁ]Á◊LEı %Á„≥VÁ_X EıÁ„Eı [˝„_ ? 

(ªªJÙ˜) ]ÓÁ_U«a›Ã^ LXaeFÓÁTˆ„√º¯Ã[˝ ]…_ È[˝◊`rÙÓm◊_ Eı› Eı› ? 

(ªK˜) =~Ã^X EıÁ„Eı [˝„_ ? 

(L) X]«XÁ ªJÙÃ^X ◊Eı ? 
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1. Answer any two questions : 20 × 2 = 40 

(a) Discuss the different reasons behind the 

social changes. 

(b) Elaborate the meaning of social progress. 

Discuss its distinctive features. 

(c) What is the method of population control ? 

What are the arguments in favour and 

against it ? Discuss the state of population 

control in India. 

(d) Discuss the mutual relationship between 

fertility and education.  

2. Answer any three questions  : 12 × 3 = 36 

(a) What is the relation between social 

evolution and social progress ? 

(b) What is meant by sustainable   

development ? 

(c) What kinds of changes take place through 

modernization ? 

(d) What is Census ? What is its purposes ? 

When did census begin in India ? 

(e) Examine Marx's theory of population. 

(f) What are the reasons behind establishment 

of population density ? 

3. Answer any four questions  : 6 × 4 = 24 

(a) What do you understand by revolution ? 

(b) What do you understand by socialist 

society ? 

(c) What is social demography ? 

(d) What are the reasons behind the high 

population growth rate in underdeveloped 

countries ? 

(e) What is social movement ? 

(f) What are the basic features of population 

theory of Malthus ? 

(g) What is meant by development ? 

(h) What is sampling ? 

    


